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Instructions :
(i) All questions are compulsory.
(i) Question Nos, 1 to 5 are objective type questions.

(iii) Internal optiens are given in Question Numbers 6 to 23.
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el fawes gast fafao
(i) (6, 20) & 1CF %

(@) 6
() 2

(i) Bum sgw &
(a) FHA@ TH
() 2

(i) wH Fre@m ax+by+e =0 am ax+byy+c,=0 F UF iy

(b) 20
(d) 120
foa e @ 7
(b)y 0
d 3

T IR A ad fafee -

a_h q b
(a) az—bz (b) Egig
a bl € a b ¢
c ._=—;'_-— d — e — T —
(c) a, bz Cy (d) ay .!:I2 Cy
(iv) feaa adeor &1 wAe w9 faflae -
@ a’x+bx+c=0 ®) ax’+bx+c

(c) ax?-+ bx+c=0

1
(v) A.P. -3, 3 2,

(a) 28

(c) -38

...... 1 11af 1§ ¥ -
by 22
(d) 481

Vi) 9% # fdw Sar @ gA ReRan

(@)  (=r2+h2 ) (2 =r2en?

) aPx+bx+cl=0

(C) ‘\ﬁ:r2+h2 (d) [:drz_}.hz
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Choose the correct option and write :

(1) HCF of (6, 20) i1s -
(@) 6 (b) 20
() 2 (d) 120
(i) How many zeroes will be in cubic polynomial ?
(a) Only one by O
() 2 (d 3
(iii) Write the condition for unique solutions of pair of equation
ax+by+c =0 and a2x+b2y+c2=0.
a) T =% . b) = *3_
a _b ¢ a _b ¢
—_— e — — T —— I —
© a b o @ 2 D GO
(iv) Write the standard form of a quadratic equation.
(@ a’*x+bx+c=0 (b) ax’+bx+c
) ax’+bx+c=0 @ a’x+bx+ct=0
(v) 11t term of the A.P. -3,#%,2, ...... is
(a) 28 (b)y 22
1
(c) -38 (d) 483
(vi) Write the;formula of slant height of a conc.
(@) f=72+h (b) (2 =Ar2+h
€ Ji=ri+n* ) ¢= Jlrz + 1
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fﬁﬁmﬁ{%ﬁﬁm 1x6=0

i) 2 & e ¥ (qfor ) efEE)

(i) SrREd ¥ e gy wRoka fea oo S w9 o
o

AT o ¥

L)

(i) A.P. 5. 10, 15, ... H 1041 U T -
™
N

(iv) ®® Byw woew B9 ¥ | (wmfeg /s
-

(v) foedr fag & x-a & g HeAH & | (9 [ &)

(viy s Filae wemr & wftsan X E 1 (170

Fill in the blanks :

() 2 isa number. (rational / irrational) |

(ii) Sridharacha‘iya derived a formula, now known as the

i

(iii)y The 10 term of AP. 5, 10, 15, ... is e

(v) All triangles arc similar. (isoscles / cquilatcml_‘)

(v) The distance of a point from the x-axis is called

(abscissa / ordinate) ‘i

A

(vi) The probability of a sure event is (17075
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3w e fe | 1x6=6
o

(i)  sin’4 Toos4 @) 5
N
o

(ii) tan (905 4) (b) o
- ‘

(i) 9 secZALO91tan’4 (c) bac
-

(iv) fagar @ HA G ) F A T (@) 1
o '

(v) EATH z:ﬁarrqaﬁ ) a?

(vi) T & @Fea | € 9
-
> ‘(‘) cot A
~ g

O\
Match the corrget column :

-
™
—

(1) sin24 "IfPSzA (@ 5
-

i) tan (90%<yt) ® o
O
O

(iii) 9sec2Aé9tan2A (c) bac

(iv) Distancebetween points (0, 4) and (3, 0) (d) |

o
[
(v) VolumeQf; a cuboid ) a?
QN
. (vi) Area of @ square H 9
-
(g) cot _A’
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YAE W OUH 9% [ qieg ¥ I@T farEn 1x6=

() faEm wE el fhxic=0 ¥ R R B g faflan |

(ii) ﬁ;sﬁA.P.éaquqa‘faﬂu‘mmleﬁml

(i) 39T & A g fafge |

(iv) wsiimaﬂtqa%ﬁmﬁqﬁgﬂ%wﬂﬂ% 7.

(v) maﬁ@wﬁ?ﬁwmsmm%rﬂwuﬁm%?

(vi) = 20-40 &1 4 foe fefaw

. Write the answer in one word / sentence of each :

(1)  Write the forr}nula of discriminate for quadratic equation ax +bx+c=0.

(i) Write the formula to find the sum of the first n terms of an AP

(ii1) Write the definition of the angle of elevation,

'
]
[}

!
(iv) What is ce}ﬂled the common point of the tangent and the circle ?

(v) What is the probability of getting a number 8 in a single throw of a die?

(vi) Write the class mark of the class 20-40.
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100

frfafea & @@ / ewa fafag - 1x6=6
() @ goEw PO @ WA Yo e e ¥

(i) X TET Bl & ATEH B FIAG TR TG YOS & AU F qq
A

(i) 3T Tar VEw B H@ B I WG & /g B A e Y@ ad ¥

(iv) wst Tar & s @ ¥
v) R (7, 1) (0, 0)% da @ g 502 ¥ |

(vi) o FT TG, AT & G H e A ¥, A 9ip T I @ Brow wd
ot TH WA A |

Write True / False in the following :

(i) The corresponding;sides of two similar triangles are in the proportion.

i
!

(ii)) The ratio of the ateas of two similar triangles is equal to the ratio of their

corresponding sides.

(iii) The line of sight is the line drawn from the eye of an observer to the point

in the object.

(iv) A tangent is the secant.

(v) The distance between points (7, 1) and (0, 0) is 5\5.

(vi) The volume of a cone is half of the volume of cylinder, if the radius and

height are equal of the cone and cylinder.
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140 @ F PRES] § PAET & w1 H @@ i |
Express 140 as a product of its prime factors.

Hyar /| OR

HCF (306. 657) = 9 Rar ¥ 1 LCM (306. 657) A &I |

Given that HCF (306, 657) = 9, find LCM (306. 657).

goizu 6 32 us sufeg d@n ® |

Show that 342 is irrational.

Jya /| OR

17, 23 aX 29 &1 HCF 3@ &g |

Find the HCF of 17, 23 and 29.

aU? 48U % % T@ AT |

Find the zeroes of 402 +8U |

sy /[ OR

@WW%WWQWWWW=—] o1 TS =45 ¢ |

Find a quadratic polynomial as the sum of zeroes = -1 and product =45
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a2 a
9 @ﬂ_qﬁ“ a2‘b2 ¢ S a%]lﬁm I
Ix+2y=S5
2x-8y=7
N A ‘|
ind the ratio a, b, and PR
3x+2y=5
2x-8y=17
@ | OR:
ew whet gm & g7 S |
x+y=14
x—-y=4
Solve the pair of linear equations :
x+y=14 "
x-y=4
10 9% B F& A |
Find the number of Zeroes.
A
F
x' < \ /\ —> X
N
v
)J!
s [ OR
TR x° =3 & qT8 & ded T DR, |
*Find the sum of zeroes of polynomial x? -7
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11

12

13

st S B s x2-2x=-20-x) femm @B ¥ 0

Check whether x°—2x=-2(3-x) is a quadratic equation.

gy /| OR

i g 202 —4x+3=0 & Rfegs @ BT |

Find the discriminant of the quadratic equation 2x2 —4x+3=0.

AP 2. 7.12, ... &1 10a] 9% 39 BT | |
Find the 10™ term of the AP. 2, 7, 12, ......... i

dyar /| OR

Sitg BT F 0, -4, -8, —12, .. AP X ¥ |
Check whether 0, -4, -8, -12, ......... in A.P.

AT GRS WA & &9 fafag |

Write the statement of Basic Proportionality theorem.

Jyar [ OR

aft AABC ¥ DE||BC ¥ @ EC T HfQ |
AE =1 cm, AD = 1.5 cm, DB = 3 cm

If in AABC, DE| BC, then find EC.
AE = 1 ecm, AD =15 cm, DB = 3 cm

e
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14 fagali P4, 6) AT 6. 8) F A gl v w1 .,
| Find the distance between point.s_P(4, 6) and (X6, 8). - |
@'/ OR
fagaii (a, b) IR (-a, ~b) & A g @ A |
Find the mid point of points (a. b) and (-a, -b).

15 aiX mnA:-g—. at secd 3T cos 4 & M TE @ |

If tan A4 =-;—, then find the value of sec A4 and cos 4.

sgar /| OR

_ A sin 18°
Find the value of m .

16 @ Rowrd s o g P W ww dw dm ¥ i wE A b B Ed g
zra g A @ sifmear 0.62 ¥ | Yo % o @ w wiiw ¥ 7

hma, play a tennis match. It is known that the

Two players Sangeeta and Res
match is 0.62: What is the probability of Reshma

probability of Sangeeta winning the
winning the match ?
dqa /| OR

@aﬁﬁ3mﬁdﬂ15mﬁ‘%’-§lwﬁﬁﬂ’ﬂwﬂ?m§wﬁmﬁ

mtlmmw%f&ﬁamﬁ?

ns 3 red balls and 5 black balls. A ball is dra
\e ball drawn is red ?

wn at random from

A bag contai
the bag. What is the probability that tl
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17

18

UH U FH TH X BEd U N HEa e I Widddl S it |
o

A die 1s thrown once. Find the P{(\}habilily of getting a prime number.

N

\§yar /| OR ’

-
% T=|w ¥ 5 @, 8@%:@%?4};(&#:% |38 &= 4 ¥ ws du1 Igwmw
e S ® |W'Wﬁwﬁ?aﬁmﬁmma?rﬁlt§ |

A box contains 5 red, 8 white a:i]é 4 greén marbles. One marble is taken
out of the box at random. Find the probablllty of getting a white marble.

o)
p—

!f!
smﬁwqawﬂmmm@@r@wﬁf%wﬁgﬁ W MR %
ue-fag @ ISmQ%-,Iﬂ?R%{:{EWWWWrsm% | HETT @B
O3 T S | SN

o
A tower stands vertically on the gr'é;iﬁd. From a point on the ground, which is 15 m
away from the foot of the tower, ths angle of elevation of the top of the tower is

found to be 60° Find the height of the tower.

.‘ s
[N
(“c

-
3121?11 /| OR

"'f

aﬁ%ﬁmﬁ@l-@ﬁs@m%@iﬁﬁgmﬂmwmﬁw%%ﬁ?
w1 frax sofe @ g @ ¥ Sly3d W 30° B g ¥ 1 U5 @ 9
faeg @1 g, el ¥ H frET oA wa ¥, 8 m Y 1 s Y A P |

. N .
A tree breaks due to storm and the;broken part bends so that the top of the tree
touches the ground making an anglt, 30° with it. The distance between the 00!

of the tree to the point where the top touches the ground is 8 m. Find the height

of the ftree.
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19 fag it % T g A g9 o T wel el A dewa s a0 3
Prove that the lengths of tangents drawn from an external points to a circle
are equal.

s | ORC
Qﬂiﬁg.til}l.ﬁ}[lﬁqa%ﬁﬁﬁﬁcm{ﬁﬂ t, g v Wyt @ @ e
dem® rgﬁaﬁﬁmmﬁrﬁﬁq |
The length of a tangent from a point 4 at dStance 5 cm from the centre of
the circle is 4 cm. Find the radius of circle.

20 6 c¢m o0 I U 99 % UG Browvs @ 'AEwa o Akig frae 3
BT 60° % | -
Find the area of a sector of a circle with radigs 6 cm if angle of the sector
15 60°.

duar /| OR
T W W e # ogd e w14 ot 1 @ g T s fee ¥ <R
6T TG BT |
The length of the minute hand of a clock i$ 14 c¢m. Find the area swept by the
minute hand in 5 minutes. https://www.mpboardonline.com

21 T HEE w ST 26 ¥ o ww wew gl wem A W T ¥ 4
The difference between two numbers is 26 and gne number is three times the other.
Find them.

F@ | OR
fas Tl g9 @1z Afm
Ix=5y-4=0
Ix=2y+7
Solve the pair of linear equations :

Ix-5y-4=0
I9x=2y+7
100
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22 FURE 24 om ¢IR A 1.4 cm T 0% 39 99w A ¥ @ Ui @R @

@ I U YEdR G HE [ o ¥ ) 99 99 39 & USRI d9%d
T AT |

From a solid cylinder whose height is 2.4 cm and diameter 1.4 ¢m, a conical cavity
of the same height and same diameter is hollowed out. Find the total surface area of

the remaining solid.
3% | OR

T I TE AU W W TH TP b A & ¢ e Bread | oem ¥
T 9P B SUR D oW F IR ¥ 1 3@ W w omadH o & W §
I @i |

A solid is in the shape of a cone standing on a hemisphere with both their

radii being equal to 1 cm and the height of the cone is equal to its radius.

Find the volume of the solid in terms of f.

23 frefofga gl 35 0 & wawan @ (e ®) <ofd ¥ 1 e asa 4
C 1 ) | Lo
A R (% ¥) 45-55 55-65 65-75 75-85 85-95
T A qE 3 10 11 8 3
The following table _:gives the literacy rate (in percentage) of 35 cities. Find the
mean literacy rate.
Literacy rate (in %) | 45-55 55-65 65-75 75-85 85-95
Number of cities 3 10 L 8 3

Jga | OR
100 | / J-509_A S-4 14 IR WM nw  p.T.0.°
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ﬁmﬁrﬁaﬁﬁﬁzzsﬁaﬁwﬂﬂﬁ%ﬁmeﬂﬂm (gt )

SqETOl @1 agad waq dre wd AT |

Hram w (49 H) 020 | 20-40 | 40-60 | 60-80 | 80-100
ARl 20 45 57 65 38

The following data giv

es the information on the observed lifetimes (in hours) of

225 electrical components. Determine the modal lifetimes of the components.

Lifetimes (in hours)

0-20

20-40

40-60

60-80

80-100

Frequency

20

45

57

65

38
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